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Chemistry Aptitude Test - 2017

Stage - Il (for Class X)

Full Marks : 50 Time : 1-30 hours

Answer all the questions.There are 30 MCQ (1-30) in Group A, each of 1
mark. Each MCQ has been provided with four options. Shade the correct
option with ball point pen in the appropriate box in the Answer-script. Multiple
shading is liable to cancel the relevant answer. 0.25 mark will bededucted
for wrong answer to each MCQ. Group B Contains 10 questions (31 - 40)
each of 2 marks - answer these questions in the space provided for in
the Answer-script.
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Multiple Choice Questions : All 30 Questions 30x1=30
The pH of a solution is 3; when its pH changes to 5 then its H*
concentration
(CFIF BT pH 3 (ATF ARRTOS 33 5 25; TS TITIF H* SIS AGY)
(a) Increases two times (la4 ITCI) '
(b) decreases two times (@34 F(3)
(c) increases 100 times (100 ¢ ITLI)
(d) decreases 100 times (100 39 FICI)
Formula of plaster of paris is '
(APBIT S IR O 29)
(@) CaSQ, (b) CaSO,.H,0 (c) CaS0O,. 2H,0 (d) 2CaSO,.H,0
Two elements A (at. wt. 75) and B(at. wt. 16) combine to form a
compound is 75.08%.The formula of the compound will be.
(416 G A (~AFNeRT 939G 75) 93 B (AT9RS 9Fg 16) A7
& A G (191 910w 0 | (9IS 8o ZAI 75.08% A SR |
Asioa Sk JIF© 203) -'
(a) A,B (b) A,B, (c) AB (d) AB,
Which of the following is decomposed by bright sunlight
(I (b Tege syHiteE Reaifers z7)
(a) CuCl, (b) ZnSO, (c) AgBr (d) Na,CO,

(1) '



(5)

‘Invar’ is an alloy of — (2SI’ 419 B TAMIA =)
(a) Al 8 Mg (b) Fe € Ni (c) Zn'8 Cu (d) Pb 8 Sn

(6) The formula of blue vitrial is @-ﬁiﬁm ALFS TE)

(a) FeSO,H,O
(c) CuSO,.5H,0

(b) CuSO_H,O
(d) FeSO,.5H,0

(7) An acid which can decolourise purple coloured potassium

(8)

(9)

permanganate solution is —

(=5 =TT Tt B AR THATIE (BN TNF IR IR

Ol 257)

(a) Sulphuric Acid (AP SHIFG)

(b) Citric Acid (F1RG< SuiTe)

(c) Carbonic Acid (I e

(d) Hydrochloric Acid (TR SHifE)

In order to prevent the spoilage of p@tato chips they are packed -

in plastic bags in the atmosphere of —

(e BT 18 26T T© cmwww A5 WIS T
(T TR ARITIT 1 27 o1 237)

(a) CL, (b) H, () N, (d) O,

The no of h10lecules of water of cryslallisation present in washing
soda crystal is — (T[T FHIT GO (FATHA HLEAR Nefd H4)
(a) 5 (b) 2 () 10 (d) 7

(10) A salt whose aqueous solution will have a pH more than 7 is —

(CTIH AT TAY FICF pH 93 [ 7 S0 (I04)
(@)K,CO, () K,SO,  (c)NaCl (d) NH,CI

(11) Bee-sting contains (GRS T TR)

(a) an acidic liquid (&% &39) (b) neutral solution (2 &3¢)
(c) an alkaline liquid (F131Y @39) (d) an alcohol (SUIFTFIZE)
(2)

(A& GNIA 287 ALY AR IATAY @ﬂFﬁJﬁWWWW
W &I?) |

(40) Write the IUPAC name of the following :-

(IUPAC *1&afors wiv fe)
() CH,-CH-CH,- COOH
|
CH

3

(i) Write the structural formula of neo-pentane.

(RETATHR ST AL (712 1)

EXT L
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_ Group-B
(31) Complete and Balance the following equation —
(774 I FTre! R 39—

(@) Pb(NO,), ——
(b) Fe + H,O (steam) —
(32) Why does distilled water not conduct eIectncuty where as rain
water does?
(Row oo ofte Rz s @l e Pasa @ @)
(33). Write the electronic dot structure of - (BTAIGAT 5197 ALFS {7
(i) C,H, (i) CaC,
(34) Why does gold dissolve in aqua regia? Write chemical reaction

involved in it. (ST T (3 E?Ri@ T ANFANRR o 1)

(35) The copper vessel used in homes are found to be coated with

green colour. (I FATAT ST AIS TAFA 2ITT) -
() Whatis the chemicél name of the green coating.
(S SBAC AN 151 5 2)
() Why does Cu-vessels are best cleaned with lemon Juice
but not with soap?
(G T AT AT I T @maﬁwwm
foE AR 3 2T A ?)
(36) What is the pH of the solution of 0.0001 (M) H,SO,.
(0.0001 (M) H,SO, 93 pH 3¢ (1 W1 571

(37) How will you convert ?
(a) Ethyne — Ethene. [213 ﬂiﬁﬂ]
(b) Ethanol — Ethanoic acid. R+ eiqnmﬁaswﬁts]

(38) Explain the cleaning action of soap.

(AR AfEFaea fFm g 2 1)

(39) Aluminium is a highly reactive metal. Yet it is used to make
utensils for cooking.

(6)

e el = e

(12) Which of the following is not a redox reaction?
(NHa @0 (@F [z )
(@) CuO +H, — Cu+H,0
(b) H,S+Br,—S+2HBr
(¢) ZnO +H,S0O, —ZnSO, +H,O
(d) 2Na +H, — 2NaH
(13) The pair of neutral oxides are - (2% ST (TNTTH Z&7)
(a) CO, NO, (b) CO, N,O (c) CO,,NO (d) CO,, N,O
(14) Which of the following oxide of iron is formed by the reaction of
iron with steam.

(SNTACR ﬁﬁ@vﬁmﬁﬁmﬂ & (NI Teow )
(a) FeO (b) Fe,O,
(c) Fe,O, (d) Fe,O
{15) The metal which can be extracted from pyrolusite is

(FIRTARTARE (I (A 4t [HEmE 31 23 ©f 29)

(a) Mercury (*Ii3W) (b) Manganese (SJTSAIS)

(c) Aluminium (STERfEN)  (d) Magnesium (SBTSTTSRIN)
(16) Calamine can be converted into zi'nc oxide by the process of —

(FER SIS e THRCT oAfiee 30T I35 Awteid 241)
(a) dehydration ([¥<ew=) (b) roasting (Si#{&ia)
(c) Calcination (S R33) (d) anodising (SHTATEIRIER)

(17) CH,CH,OH = st_o..__) CH,=CH,, In this reaction H,SO, acts

443K
as a (RfFmfors 99 H,S0, v3 $fiwt 2=1)
(a) Oxidising agent (S17F &) (b) Calalyst (SFIIGICA)
(c) _dehydration ageht (Ra&) (d) reducing agent (Reas &35)
(18) Bayer's reagent is known as (I [RFES0 2e1)
(a) Br,/H,0 (b) alk KMnO,
(c) Zn/HCI (d) CH,COOH/Zn
(3)




(19) Which one of the following organic compounds cannot

decolourise the red-brown colour of bromine water.
(N (&1 (N4 oTiet 0l @IS T34t 30N I )
(a) C,HIO (b) C.H,, (c)C.H,, (d) C H,
(20) In the following pairs, which compounds do not obey ‘Rule of
Octet'? (AT (I (ST S LA’ oy ?)
(a) PCL,, BCI, (b) NH,, CH,
(c) H,0, Na,O (d) CO,, NO,
(21) The correct increasing order of the atomic radii of the elements

oxygen fluorine and nitrogen is |
(SRS, (@GR GAR TGS AT RE Pt T 7o)
(a) O, F, N (b) N, F, O (©)ON, F (d) F,O,N
(22) Which of the following has highest no of molecules.
(TS R 7227 A< 2)
(a) 8 gm of CH, (b) 4.4 g of CO,
(c)4.5gmofH,O (d)2gm of H,
(23) The correct formula of the oxide of Eka-Alminium element
predicted by Mendeleev was -
(ST 2ve G SHIRIIITE SRIEed ALFS 24)
(a) EaQ, (b) Ea,O,
(c) Ea,O, (d) EaO
(24) NH, reacts with excess Cl, to give.
(TR RS Sfee @iaa [RiTam e 23)
(a) N, + NH,CI (b) NCI, + HCI
(c) NH,Cl + NCI, (d) N, + HCI
(25) Which of the following on burning evolves a pollutant gas SO,7?
(BT @G 90 73S 579 SO, T FA)
(a) CNG (b) Coal (%) '
(c) LPG (d) Water gas (T 1)

(4)

(26) Which of the following can undergo chemical reaction.
(AITET (@I oFea [ #1aive 203)
(a) MgSO, + Fe (b) ZnSO, + Fe
() MgSO, +Pb  (d) CuSO, + Fe
(27) Which one of the following types of medicines is used for
treatment of indigestion 7
(N5 (1 874 TS I TH)
(a) Antacid («51TG) (b) Analgesis (SHNECS )
(c) Antibiotic (SIBAICAIBSF)  (d) Antiseptic (SIFST#I6)
(28) Copper reacts with dil HNO, acid to liberate —
(AR AZS w7 HNO, Smifires Rifgmam Gesta 27)
(a) NO, (b) NO
(c) N, (d) N,O
(29) Two elements X and Y having atomic number 8 and 19

respectively combine together to produce a compound. Choose
the correct answer with type of bond present in them.
(0 GTET X @32 Y v AT E g I R AT &
A (F (19 T I(F | IT APS AR 9% T&b (71 1)
(@) XY,, Covalent (FCA&) '
(b) Y,X, electrovalent (Sfesraren)
(c) XY, electrovalent (Sioeatst)
(d) YX,, covalent (TCTIE)

(30) When a glass rod moistened with HCI is introduced in a gas
jar, it produces a white fumes. The gas in the jar is -
(935 FHNSTS HCI SRS TRET 9D SANTEIta A= FAE AW
(AT B 2T | AN SHIAL Z280)
(a) CO, (b) NH,
(c) SO, (d) N,O
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